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Question 1:  Find the gradient of each of these lines
@ (b)
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Sam thinks of a number, n.
He multiplies his number by 7 and then adds 3 to the result.
His final answer is 45.

() Write down an equation for this information.

(b) Solve your equation to find the number, n.
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Do you notice anything about the solutions when you add and/or subtract
consecutive negative numbers?

Take, for example, four consecutive negative numbers, say
—7,-6,-5,—4

Now place + and/or — signs between them.

HOEOEOE
FOEOEOE

There are many more possibilities. Try to list all of them.

e.g.
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Beywords

Gradent: the steepress of a Ine

Intercept: where. two Ines cross The y-ntercept: where the Ine meets the y-axis
Paralel two Ines that never meet with the same gradent

Co-ordinate: ai set of values that show an exact postion on a graph

Linear: Inear graphs (straight Ine) — Inear common difference by addtion/ subtraction
Osymptote: a straight Ine that a graph wil never meet.

Reciprocal: a pair of numbers that mutiply together to gve |

Perpendicular: two Ines that meet at a right angle.
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Reuwords

Inequalty: n nequaity compares who vaes showng if one. i greater than, less than o
equal to another

Variable: 6 quantity that may change within the context of the probem
Rearrange: Change the order

Inverse operation the. operation that reverses the acton

Substitute: reploce. a vandbke vith a nomencal vaie

Solve: find a rumerical vaue that satisfies an equation
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beurords

Muliles: found by mutipling any number by positve ntegers

Factor: nlegers that mulply together to get another rumber

Prime: an nteze vith o 2 factors

HOF: hgfest common factor (bagest factor two or more nurbers sture)

LCM best common mutp (the st tme. the.tmes tabk of tio or more nombers match)
Verfy the process of making sure  sobiion s correct

Proof bgcal mathematcal argiments used to show e tth of a statemert

Bromiat  polyomial with two terms

Quadratic: o potnomial vith four terms (often smified to thvee terms)
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